
Pracovný list pre 7. C a 7. D 

Doplň chýbajúce násobky čísla 2: 

2             6                        12      14            18     

 

Vypočítaj: 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

5  .  3  =___       10  .  2  =___ 

9  .  2  =___         7  .  0  =___ 

6  .  3  =___         5  .  1  =___ 

8  .  2  =___         7  .  3  =___ 

4  .  3  =___         9  .  3  =___ 

2  .  2  =___        10 .  1  =___ 

3  .  3  =___         5  .  3  =___ 

14  :  2  =___       9  :  1  =___ 

20  :  2  =___       9  :  3  =___ 

15  :  3  =___      18  :  2  =___ 

24  :  3  =___       3  :  3  =___ 

10  :  1  =___      16  :  2  =___ 

17  :  3  =___      18  :  3  =___ 

  5  :  1  =___      12  :  2  =___     

30  + 50  =___     100 - 70  =___ 

20  + 41  =___      78  - 40  =___ 

32  +  4   =___      59  -  5  =___ 

78  +  5  =___       62  -  9  =___ 

46  +  4  =___       30  -  5  =___ 

22  +  7  =___       67  -  6  =___  

88  +  7  =___       61  -  9  =___        

60       30         42          59          74          21         67 

20         5         30            7            5            9           4   

___________________________________________ 

 

 70        69         33         50          96           77           41 

-50       - 4         - 7       -   9        -   3       - 20        -  8 

___________________________

________________    



 

Vypočítaj: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

33  +  5  =___       96  -  4  =___              45         29          33         74          91          65          21 

57  +  8  =___       62  -  7  =___                3         50            7           9            5            8            9 

28  +  2  =___       40  -  8  =___             _____________________________________________ 

20  + 50 =___       80  - 50 =___ 

47  - 30 =___        67  - 50 =___            

52  +  4  =___       37  -  2  =___             38          51         40         28          76          54          89 

66  +  4  =___       41  -  5  =___            -  4        -  7        -  3       -   7        -30         -  9        -   8  

28  +  5  =___       60  -  7  =___        ______________________________________________ 

  5  + 21 =___       38  - 31 =___ 

 
5  .  3  =___     12  :  2  =___      2  .  2  =___   

9  .  2  =___     21  :  3  =___    18  :  3  =___ 

4  .  0  =___       3  :  3  =___      7  .  2  =___ 

8  .  2  =___     15  :  3  =___      9  .  0  =___   

7  .  3  =___     27  :  3  =___     30 :  3  =___ 

7  .  2  =___     14  :  2  =___       8  . 1  =___  


